ALGEBRA II     CHAPTER 1
Name:_______________________

STUDY TEAM TEST
Date: _____________ Period: ___
Show all work and reasoning.  Label graphs completely.  Use pencil and highlight your answers.
	
	1.  Graph both functions.  Be sure to make a complete graph.  Identify all intercepts and intersections.  
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	x–intercept(s):


	________________
	________________
	

	
	y–intercept:


	________________
	________________
	

	
	intersection(s):  __________________________________

	

	
	2.  Given 
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, simplify the following completely:

	
	a)  
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	c)  
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	d)   What value(s) of x will make 
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	b)  
[image: image7.wmf](2)

f

-



	
	

	
	3.  Determine the x– and y–intercepts for the given functions.  

	
	a)   
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	4.  Determine the domain and range for each function.  

	
	a)  

	D: ________________

R: ________________


	b)  
	D: ________________

R: ________________



	
	5.  Factor completely.

	
	a)  
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	b)  
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	c)  
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	6.  Solve for x.  

	
	a)  
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	b)  
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	7.  Solve the system of equations.  Explain how your solution relates to the graph of the system.  
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	8.  Graph the system of inequalities.  Be sure to make a complete graph.
a)  
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b)  
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	9.  Investigate the function 
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.  Graph f(x) and the line of symmetry.  Be sure to make a complete graph.  

	
	x–intercepts:


	y–intercepts:
	

	
	line of symmetry:
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